NAME : Dare

 Practice A

For use with pages 576-582

Write the polynomial in standard form.

1 3x+4x2—5 : 2. 5x2 + 4 — 3x 3.x -T2+ 2
4, 8+ 2x + 4x? 5. 5x + 4x — 2x 6. —dxFIx* -5+ 1
7.3k — 7 + 207 8 Tx—2 9. —x 22+ — 2
Identify the leading coefficient, and classify the polynomiai by
degree and by number of terms. _
‘ 10. 14 1. 2x + 3 12. =3 + 6x — 2
1. 8% =5 14. 1 —x* 15 P dx - 433 -8
16. 2x* — 5x + 1 17. 2 +.52 18. x — x> +3x2+ 9
Use a yerticai format to add or subtract.
19, (62 + 2x + 7) +(4x% + x — 3) 20. (532 — 2x + 4) + (=2x% + 3x — 1)
21, (5u2 +2n + 3) — (n + 2) 22. (602 + 4n + 6) — (5S> + n + 2)
23. 26 — 4a®> + T) + (—2a% + a — 3) 24. (4n? — 6n + 5) — (8> + n + 3)
Use a horizontal format to add or subtract. ‘ _
% 25, (x» +2x + 1) + (x — 3) 26. (3m2 + 2m + 1) — (—2m? + 4n)
S (1)~ (2 + 35— 5) 28. (552 — 9) + (—3x% + 5x + 9)
29, (7x3 — 8x2 + 4) + (9x* + 5x + 2) 30. (n2 — 2n) — (—50*> + 3n —'1)
Use a vertical format or a horizontal format to add or subtract.
3. 22 + 50+ (T2 —x + 2) 32, (=242 — Tx + 3) — (=52 + 3 — 7)
33, (3+ 7x) + (13x — 4) 34, B+ 2+x+ D+ (—2—x-1)
35. (2x2 + 3) — (6x + 4) + (3x* — x) ‘ 36 (2 —x+3)—(—32+5c—2)

37. Photograph Mat A mat in a frame has an 38. Floor Plan The first floor of a home has the

opening for a photograph (see figure). Find | floor plan shown below. Find an expression in
an expression for the area of the mat. (Area standard form for the area of the first floor.
“of opening: A = ab).
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NAME ' ' DATE

Practice B |
For use with pages 576-582 @

Identify the leading coefficient, and classify the polynomial by
degree and by number of terms.

1. 12 2. 5¢— 2 3. — 4+ Tx— 1

. _ |
4, 56 -2 5, 4 — 3x4 : 6. 2 F5x+2x+a3-2 ﬁ
7. 6 — 3% S 85424+ 3x— 4 ' 9 Tx -+ 32+ 1

: Use a vertical format to add or subtract. , '

10. (322 — dx + 1) + (—x2 + x - 9) 1. (=822 — 3 + 7)'+ (=23 + 622 — 5) i
12. (4% — 822 + 5x + 9) — (6x2 + 2x — 4) 13. (6x — 5) + {423 — 3x + 4)
14. (3 +4n3) — (5 — 29) 16. (x ~ 42> + 7) — (—5x2 + 5x — 3)
! -Use a horizontal format to add or subtract. .
16. (x2 + 1) + (—4a? + 5) TS (322 + 4) — (22 — 5x + 2).
18, (32 — 8 +2) — (-3~ + 51— 7) 19. (92 — 522 + x) -+ (622 + 5x — 10) ‘
20. (5x2 + X+ 6) + (x2 + 5 — 6) 21. 12 — (=52 + x — 7) J
Use a vertical format or a horizontal format to add or subtract.
22, (523 = 3x) — (12 — 3x + 1) 23. 23 + 4) — (=22 + 3x) @
24, (m + 3m® — dm®) + (2m® + 5m° — 4) 25, (x* + 1) 4 (=32~ 7) — (3% + 5)
26. (32 +4) - (Bx+ D+ 22— 1) 27. 20 —dx + 5} — (@ + 6x — 1) |
28. Profit For 1990 through 2000, the revenue 29. Librmy Books For 1990 through 2000, the
R and cost C of producing a product can be number of fiction books F (in 10,000s) and
modeled by . nonfiction books N (in 10,000s) borrowed from

a library can be modeled by
F=001£2 4009+ 6
N = 0.00472 + 0.067 -+ 4

R=32+%+300
C =152 + 5+ 200

where ¢ is the number of years since 1990.

Find a model for the profit P earned from | where ¢ is the number of years since 1990, Find

1950 to 2000, (Hint: Profit = Revenue — _ a model for the total number of books borrowed :

Cost) ' B from the library in a year from 1990 to 2000. '
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Name ' ' Dare

Practice C

For use with pages 576-582

Identify the leading coefficient, and classify the polynomial by
degree and by number of terms.

1. —4 ‘ 2.3x—1 3. —x* 4+ 6x—2
4, T3 — 5x 5.6 — 2% 6. > —Sx+25 —x—7
7.6 + 3% 8. —x>+ 6x—2 9, 3y — x* + 347 — 522
Use a verticé! format to add or subtract. ‘ :
10. Qa2 — 4a +3) + (6a® + da — 3) M. (=43 — Tx + 5) + (—x2 + 6x — 1)
12. (283 +32 +x+2) — (2 —xt+4) 13. Ox — 2) + (2x* —5x + 1)
14. (Tm?> — 3m + 8) — (—3m® —6m + 1) 15, (=3 4 202+ 5% — (4 — ;13 + 212 + n)
Use a horizontal format to add or subtract.
16. (55 + 2x — 1) + 8x? 17. (502 + 9) — (n? — 81 — 5)
18, (n2 — 6n) +{—2n%+ 5n + 2) 19. 58— 22+ — (48 + 2+ 3)
20, (7Tx% + 23 + 9) + (442 + 2 — 5%) 21. (6x — 3>+ 1) — (9x — 4 — 3x%)
Use a vertical format or a horizontal format to add or subtract.
22. (3123 — 5n) — (20% — 4n + 7) ) 23. (x® + 40) — (2x — X%
24, (3m + n® — 2m5) + (Tm® + w5 — 1) 26 (24+ D+ G2 -1 — G2+ 1)
26. (6x — 5) — (8x + 15) -+ (3x — 4) 27. 2+ D+ (*—2x + 1) — (222 + 8)
28 (-2 + (@@ 20 — 22 +3) 29, —(5n* — 1) — (~3n2 + 5) — (> — 1)
30. 2(2 + 5) — 3(2 + 5) + 5(£ + 5) 31, —10(u+ 1) +8u—1) — 3(u + 6
32, Retail Sales For 1990 through 2000, the 33, Profit For 1990 through 2000, the revenue
total sales {in billions} for retail stores R R and cost C of producing a product can be
and for durable-goods stores D can be modeled by
modeled by ' R = 4§t2 + %t + 108
R = —021£ + 31.6t + 3574 , C=2f+3%+094 |
D =026 + 2.9t + 343 where 7 is the number of years since 1990.
where 7 is the number of years since 1990. Find a model for the profit P carned from 1990
Find a model for the sales of non-durable to 2000. (Hint: Profit = Revenue — Cost)

goods stores N. (Hint: Retail sales =
durable goods sales -+ non-durable goods
sales)
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